

SOUTHPORT CAMPUS YEAR 2024 TERM 3 SCHEDULE

6th July – 12th September

(Excluding School Holidays)

Specialising in

Student Enrichment Programmes and Coaching (Kindy, Prep, Primary, Secondary to Senior) Scholarships, Entrance Exam & Public Exam Preparation Term and School Holiday Programmes

Principal Campus: 2008 Logan Road

Upper Mt Gravatt, QLD 4122

P. O. Box 6316 **Mailing Address:**

Upper Mt Gravatt, QLD 4122

Campuses: Saturday:

♦ Upper Mt Gravatt ♦ Calamvale

♦ Forest Lake

♦ Indooroopilly

♦ Southport

♦ Springfield

♦ Wavell Heights

Sunday:

♦ Jindalee

♦ Kelvin Grove

Weekday:

♦ Upper Mt Gravatt

♦ Kenmore

♦ MacGregor

♦ Mango Hill

♦ Robertson

♦ Southport

For enrolments & enquiries

Office Hours

Monday: 9:00am - 12:00pm / Tuesday - Saturday: 9:00am - 5:00pm

(07) 3343 1883



www.north-shore.com.au



queensland@north-shore.com.au



Year 2024 Term 3 Schedule Accelerated Primary FASTRAIN Programmes (Pre-Prep - Level 6) Effective Tuition!

Accelerated Primary FASTRAIN Programmes (Pre-Prep - Level 6) Effective Tuition							
Level	Course	Start / End Date	Time	No. of LESSONS	FEES / Lesson Inc GST	FEES / TERM Inc GST	
(Age) 3 yrs+ (3 Hrs)	KINDY Focus on Basic Reading/ Phonetics/ Basic Maths	11/07 – 13/09 (Th & Fri)	9:30 - 12:30 (THUR & FRI)	20	\$56	\$1120	
(Age) 5 yrs (2 Hrs)	PRE - PREP English/Maths – Reading / Phonetics	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	10:00 - 12:00 (SAT) 2:00 - 4:00 (SAT) 4:30 - 6:00 (THUR)	10	\$61	\$610	
(Age) 5 yrs+ (3 Hrs)	PREP English/Maths – Reading / Phonetics	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$73	\$730	
1 (3 Hrs)	FASTRAIN - English / Maths Grammar / Vocabulary / Basic Writing / Problem Solving / General Ability	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$73	\$730	
2 (3 Hrs)	FASTRAIN - English / Maths Grammar / Vocabulary / Basic Writing / Problem Solving / General Ability	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$73	\$730	
3 (3 Hrs)	FASTRAIN - English / Maths Grammar / Vocabulary / Problem Solving / General Ability	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$75	\$750	
3 (3.5 Hrs)	FASTRAIN (EXTENDED) English / Maths Grammar / Vocabulary / Problem Solving / General Ability Plus Creative Writing	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$83	\$830	
4 (3 Hrs)	FASTRAIN - English / Maths Grammar / Vocabulary / Problem Solving / General Ability	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$75	\$750	
4 (3.5 Hrs)	FASTRAIN (EXTENDED) English / Maths Grammar / Vocabulary / Problem Solving / General Ability Plus Creative Writing	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$83	\$830	
5 (3 Hrs)	FASTRAIN - English / Maths Grammar / Vocabulary / Problem Solving / General Ability	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$75	\$750	
5 (3.5 Hrs)	FASTRAIN (EXTENDED) English / Maths Grammar / Vocabulary / Problem Solving / General Ability Plus Creative Writing	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$83	\$830	
5 (0.5 Hrs)	EXAM TRIAL TEST Special (Fastrain students only) Training	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	12:30 - 1:00 (SAT) 1:30 - 2:00 (SAT) 4:00 - 4:30 (THUR)	10	\$24	\$240	
6 (3 Hrs)	FASTRAIN - English / Maths / Science Grammar / Vocabulary / Problem Solving / Science	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$75	\$750	
6 (3.5 Hrs)	FASTRAIN (EXTENDED) English / Maths / Science Grammar / Vocabulary / Problem Solving / Science Plus Creative Writing	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$83	\$830	

All courses are subject to availability and lesson time may vary

Accelerated High School FASTCOACH Programmes

(Level 7 - 10) Effective Courses! Proven Performance!



	<u> </u>						
Level	Course	Start / End Date	Time	No. OF Lessons	FEES / Lesson Inc GST	FEES / Term INC GST	
7 (3.5 Hrs)	FASTCOACH (English / Maths / Science)	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$84	\$840	
7 (3 Hrs)	MATHS / ENGLISH	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$79	\$790	
7 (2 Hrs)	MATHS / SCIENCE	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 11:00 (SAT) 3:30 - 5:30 (SAT) 5:45 - 7:30 (THUR)	10	\$74	\$740	
7 (1.5 Hrs)	ENGLISH	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	11:00 - 12:30 (SAT) 2:00 - 3:30 (SAT) 4:30 - 5:45 (THUR)	10	\$67	\$670	
7 (1.5 Hrs)	MATHS	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 11:00 (SAT) 3:30 - 5:00 (SAT) 5:45 - 7:00 (THUR)	10	\$67	\$670	
8 (3.5 Hrs)	FASTCOACH (English / Maths / Science)	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 12:30 (SAT) 2:00 - 5:30 (SAT) 4:30 - 7:30 (THUR)	10	\$86	\$860	
8 (3 Hrs)	MATHS / ENGLISH	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT) 4:30 - 7:00 (THUR)	10	\$81	\$810	
8 (2 Hrs)	MATHS / SCIENCE	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 11:00 (SAT) 3:30 - 5:30 (SAT) 5:45 - 7:30 (THUR)	10	\$76	\$760	
8 (1.5 Hrs)	ENGLISH	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	11:00 - 12:30 (SAT) 2:00 - 3:30 (SAT) 4:30 - 5:45 (THUR)	10	\$69	\$690	
8 (1.5 Hrs)	MATHS	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:30 - 11:00 (SAT) 3:30 - 5:00 (SAT) 5:45 - 7:00 (THUR)	10	\$69	\$690	

All courses are subject to availability and lesson time may vary



"Education is the most powerful weapon which you can use to change the world"

- Nelson Mandela -

Accelerated High School FASTCOACH Programmes



(Level 7 - 10) Effective Courses! Proven Performance!

Level	Course	Start / End Date	Time	No. OF Lessons	FEES / Lesson Inc GST	FEES / Term INC GST
9 (4 Hrs)	FASTCOACH (English / Maths / Science)	06/07 – 07/09 (SAT)	9:30 - 1:45 (SAT) 12:45 - 5:00 (SAT)	10	\$89	\$890
9 (3 Hrs)	MATHS / ENGLISH	06/07 – 07/09 (SAT)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT)	10	\$84	\$840
9 (2.5 Hrs)	MATHS / SCIENCE	06/07 – 07/09 (SAT)	11:00 – 1:45 (SAT) 12:45 – 3:30 (SAT)	10	\$79	\$790
9 (1.5 Hrs)	ENGLISH	06/07 – 07/09 (SAT)	9:30 – 11:00 (SAT) 3:30 – 5:00 (SAT)	10	\$71	\$710
9 (1.5 Hrs)	MATHS	06/07 – 07/09 (SAT)	11:00 – 12:30 (SAT) 2:00 – 3:30 (SAT)	10	\$71	\$710
10 (4 Hrs)	FASTCOACH (English / Maths / Science)	06/07 – 07/09 (SAT)	9:30 - 1:45 (SAT) 12:45 - 5:00 (SAT)	10	\$92	\$920
10 (3 Hrs)	MATHS / ENGLISH	06/07 – 07/09 (SAT)	9:30 - 12:30 (SAT) 2:00 - 5:00 (SAT)	10	\$87	\$870
10 (2.5 Hrs)	MATHS / SCIENCE	06/07 – 07/09 (SAT)	11:00 – 1:45 (SAT) 12:45 – 3:30 (SAT)	10	\$80	\$800
10 (1.5 Hrs)	ENGLISH	06/07 – 07/09 (SAT)	9:30 – 11:00 (SAT) 3:30 – 5:00 (SAT)	10	\$73	\$730
10 (1.5 Hrs)	MATHS	06/07 – 07/09 (SAT)	11:00 – 12:30 (SAT) 2:00 – 3:30 (SAT)	10	\$73	\$730

All courses are subject to availability and lesson time may vary





Term 3 Senior Success Series

Effective Tuition! Proven Performance!

Level	Subject	Start / End Date	Тіме	No. of Lessons	FEES / Lesson Inc GST	FEES / TERM INC GST
11 (2 Hrs/lesson + tutorial)	English	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 11:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
11 (2 Hrs/lesson + tutorial)	General Mathematics	06/07 – 07/09 (SAT)	9:00 - 11:00 (SAT) 11:00 - 1:00 (SAT)	10	\$80	\$800
11 (2 Hrs/lesson + tutorial)	Mathematical Methods	06/07 – 07/09 (SAT)	9:00 - 11:00 (SAT) 1:00 - 3:00 (SAT)	10	\$80	\$800
11 (2 Hrs/lesson + tutorial)	Specialist Mathematics	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	11:00 - 1:00 (SAT) 1:00 - 3:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
11 (2 Hrs/lesson + tutorial)	Physics	06/07 – 07/09 (SAT)	9:00 - 11:00 (SAT) 1:00 - 3:00 (SAT)	10	\$80	\$800
11 (2 Hrs/lesson + tutorial)	Chemistry	06/07 – 07/09 (SAT) 11/07 – 12/09 (THUR)	9:00 - 11:00 (SAT) 1:00 - 3:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	English	06/07 – 07/09 (SAT)	11:00 - 1:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	General Mathematics	06/07 – 07/09 (SAT)	9:00 - 11:00 (SAT) 11:00 - 1:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	Mathematical Methods	06/07 – 07/09 (SAT)	11:00 - 1:00 (SAT)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	Specialist Mathematics	06/07 – 07/09 (SAT)	1:00 - 3:00 (SAT) 4:30 - 6:30 (THUR)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	Physics	06/07 – 07/09 (SAT)	11:00 - 1:00 (SAT)	10	\$80	\$800
12 (2 Hrs/lesson + tutorial)	Chemistry	06/07 – 07/09 (SAT)	11:00 - 1:00 (SAT) 1:00 - 3:00 (SAT)	10	\$80	\$800
11/12 (2 Hrs/lesson + tutorial)	IB Maths	06/07 – 07/09 (SAT)	9:00 - 11:00 (SAT) 1:00 - 3:00 (SAT)	10	\$80	\$800

All courses are subject to availability and lesson time may vary

One-On-One Private Coaching (By Appointment Only) (Excellent Highly Qualified Teachers to suit individual needs)

One-On-One \$120 / Hour/Inc GST (Year 1 - 9) One-On-One \$170 / Hour/Inc GST (Year 10 - 12)





Additional Courses



LEVEL	COURSES	Start / End Date	Time	No. of LESSONS	FEES / Lesson Inc GST	FEES/ TERM Inc GST
3 - 12 (1.5 Hrs)	FUTURE WRITERS' COURSE	Weekday	4:00 – 5:30pm	10	\$64	\$640

The Future Writers' course is essential for students wishing to develop and extend their writing skills. This course extends vocabulary and expression, increase and enhances understanding of writing skills in different genres and develops structure and organisation of materials effectively. It also improves language skills using modelling techniques and develops style, expression and mechanics in writing. Additional skills such as using reading materials to stimulate ideas for effective writing, developing mature brainstorming and mind mapping techniques, and developing humour and creativity in writing are also improved.



5 – 7 (1 Hr)	ANALYTICAL CRITICISM	06/07 – 07/09 (SAT)	12:45 – 1:45pm	10	\$47 (Fastrain) \$57 (Non - Fastrain Student)	\$470 \$570
---------------------	----------------------	---------------------	----------------	----	---	----------------

The critical analysis course is designed to sharpen students' skills when reading. By being able to "read smart" students will experience proficiency not only in answering comprehension and multiple-choice questions, but also in framing extended literary responses. Specially tailored North Shore materials ensure that students are wrapped whilst exploring and understanding the nuances of texts.

2 – 4 (1 Hr)	BASIC GRAMMAR SKILLS	06/07 07/00 (64T)	42:45 1:45pm	10	\$47 (Fastrain)	\$470
5 – 8 (1 Hr)	EFFECTIVE GRAMMAR SKILLS	06/07 – 07/09 (SAT)	12:45 – 1:45pm	10	\$57 (Non - Fastrain Student)	\$570

The Grammar courses "Basic Grammar Skills" for Lower Primary (Years 2 to 4) and "Effective Grammar Skills" for Upper Primary (Years 5 to 8) effectively teach students the necessary foundations that ensure language success. Both courses cover the parts of speech (nouns, pronouns, adjectives, verbs, adverbs, prepositions, conjunctions) and how they function within a sentence to make meaning. Mastering the accurate use of grammar and punctuation ensures the successful writer communicates in clear and grammatically correct language.

5 & 6 (1 Hr)	PROBLEM SOLVING TRAINING COURSE	06/07 – 07/09 (SAT)	12:45 – 1:45pm	10	\$47 (Fastrain)	\$470
7 & 8 (1 Hr)	FUTURE MATHEMATICIAN	00/07 = 07/03 (0/11)	12.40 - 1.40pm	10	\$57 (Non - Fastrain Student)	\$570

This once a year Maths Course is for students who have shown an aptitude for Mathematics and would like to develop accurate critical thinking and problem solving skills. This course incorporates preparation for Mathematics Olympiad Competitions.



LEVEL	COURSES	Start / End Date	Time	No. of LESSONS	FEES / Lesson Inc GST	FEES / TERM Inc GST
3 – 4 (1 Hr)	Reading Club	06/07 – 07/09 (SAT)	12:45 – 1:45pm	10	\$47 (Fastrain) \$57 (Non - Fastrain Student)	\$470 \$570

The Reading Club is designed to improve students' English through guided reading. It aims to develop:

- The language skills that are crucial for school success;
- Reading comprehension & fluency skills;
- A love of literature and an appreciation of literacy classics and
- Lifelong reading habits that are crucial for academic success.



1 – 2 (1 Hr)	Creative Writers	06/07 – 07/09 (SAT)	12:45 – 1:45pm	10	\$47 (Fastrain) \$57 (Non - Fastrain Student)	\$470 \$570
------------------------	------------------	---------------------	----------------	----	---	----------------

The Creative Writers' course is designed to develop and extend basic creative writing skills such as the use of punctuation, capital letters and describing words. This course extends vocabulary and expression. It also stimulate ideas for effective writing.

All courses are subject to availability and lesson time may vary



Please Note:

Term 4 commences the week beginning 28th September 2024